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3 1 3.) Abeam of lighy emerges from water into ais

at an angle ben
A) towards the normal

B) in a direction perpendicular to the normal.
() away from the normal

D) in a direction parallel to the normal

E) not at all
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14) The secondary rainbow is dimmer than the primary rainbow because
g wmoa 9 mB




D) Blectrons
) contribute more to an atom’s mass while protons contribnate mon 1o fis size.

16) Elements :
) 'h'“““'mﬂ“m___tuwamdﬂnmhnwmﬁmimdmamm.hm
A) group B) period C)compound  D)mow £ testhock
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